Indian Statistical Institute
Documentation Research and Training Centre

M.S. in Library and Information Science
Semester I, Mid-Term Exam (AY 2024-25)
Paper - 09: Elements of Mathematics and Statistics

Date: 19.02.2025 Max. Marks: 40
Time: | hr 30 minutes

INSTRUCTION: Read the question before you attempt.

Section A
Answer any five from the following questions [1x5 = 5]

y ThesetA={x,xeN,andx2—3x+2=D}is

a. Null set.
b. Finite set.
c. Infinite set.

d. None of these.

2. If A = @ then total number of elements in P(A) are
a. Zero. : ’T\P( A)
b. Two.
c. One.
d. None of the above.

3. For afrequency distribution, the class interval is
a. the class frequencies divided by two.
b. the class frequency divided by the number of observations.,
c. the number of observations in the class.
d. the difference between consecutive lower class limits.

4. Arithmetic Mean =26.8, Median = 27.9. What is the value of Mode?
a. 30.2
b. 29.2
6: =30:1
d. 29.1

5. The sum of deviations from the is always zero.

a. Mean.
b. Median.
c. Mode.

d. None of the above.

6. Which of the following diagrams is used to find the value of mode graphically?
a. Pie chart.
b. Bar graph.



€ 8 9l %4 €l L S Zz | Aousnbai4
0¥-G€ | ge-0¢ | 0e-GZ | G2-0Z | 02-GlL | GL-0L | 0L-S G-0 sanjeA

‘uonngL}sip Aouanbauy Buimojjo} 8y} Joj UOHBIASP pPJepue)s ay) sjejnojed /

‘slaquiaw Q¢ Jo dnolb mau 8y} Joj BLWOdUI JO UOHBIASP
pIEpUE])S pPUB UBaW ay} puld ‘065 PUB 06¥ ‘0ZE ‘00€ ‘092 @Je yjuow Jad sy Ul SaWodul
J1oy) pue A)9100s 8y) 0} PajiLLpe SJe SIaGLUSW 3J0W 8AI4 "0G S S! UONJBIASD pJepue)s
8y} pue QSg Sy SI sisquisw Gz Jo Ajeioos Ajpusuy B jo yjuow Jad swodu ueaw ayj ‘g

'sapuanbaly
Buissiw om} 8y} pul4 "GZ'9lL Se Ino punoj Aj}0si00 ussq Sey UBIpaw 8y} eyl
pue QG| Sem salouanbaly Jo Jaquuinu (B0} 8y} 1Y) ulepeose 0] 9|qIssod Sem )i JOASMOH

£ 9 0l 9l
002-061 | 061L-081L | 08L-0/L | 0/L-09l
& oY ¢ Gl L ¥ Aousnbali
091-0G} | 0SL-0¥L | OVL-0EL | OEL-0ZL | 0ZL-OLL | OLL-00} 70

: Buissiw a.e sapuanbaly sseo om) ejep Bumoljoy auyj uj °g

P=02UgUV
pue s}as Ajdwe-uouaie D UV PUB D U g ‘g U V1BUI Yons O pue g 'y sjes puld ¢

[4 0 ¥l 6l L 14 Aouanbai4
G/.-G9 | S96S GS-G¥ | S¥-G€ | GE-GZ | GZ-Gl | seuwepunog SSe[g

:MOJ8q uaaib ejep ay) JO SSE[O UBIpPaW 8y} PUB UBIpaW 8y} puld '€

{9}=a
{g9'v‘et=0 {9'v‘zl=9 {0=2L +xg - xAsnesxpueYax x}=vy
-Jayjoue pue auo Jo s]asqns ale s}as Yaiym ‘sjas Buimojjoy ay) Buowe ‘apoaq °Z

£Suods aaJiy} ay) Jo om] Aj10BXa Ul Sjepall paAledal Auew moy
‘spods aaiy) ay} [|e ul sjepaw 106 usw aaJy) AjUo pue usw §G Jo |B}0] B 0} Juam sjepawl
8say) J| "18XoLO Ul 0Z Pue |[BqidXSEq Ul G| ‘|[eq)o0} Ul sjepaw g papieme 86900 v |

[z =5,¢] suonsanb Buimoj|o} ay) Jo aAly Aue Jamsuy

g uoyoes

"SAOQE 89U} JO SUON P
‘welboisiH 0



Section C

[1*10=10]
Answer any one of the following questions (8. OR 9.)
8.
a) The standard deviation calculated from a set of 32 observations is 5. If the sum of
the observations is 80, what is the sum of the squares of these observations? [5]
b) In a group of 300 individuals with an allergy, 180 had been exposed to Substance
S1, 70 to Substance S2, and 40 to both Substances S1 and S2. Find the number
of individuals exposed to:
i.  Substance S1 but not Substance S2.
ii.  Substance S2 but not Substance S1.
iii.  Neither Substance S1 nor Substance S2.
iv.  What percentage of individuals were exposed to both Substances S1 and $2?
5]
9.

a) Draw one of the ogives for the following data and find the median wage: [5]

Weekly Wages in Rs 0-20 20-40 40-60 60-80 | 80-100
Number of Workers 40 51 64 38 7

b) In an industrial establishment, the coefficient of variation of wages of male and
female workers were 55% and 70% respectively. The standard deviations were
Rs 22.00 and Rs 15.40 respectively. Calculate the combined average wages for
all the workers, if 80% of the workers were males. [5]
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